TOP VIEW

A160 _ .89
y § M12x1,75-6h ! M12x1,75-6h
PRl M
| ==\ |
L\
I
_@\ ~
dw) ik
oo
N =
] 1/4"-18 NPT
. Zli= BOTTOM VIEW
1 il W M8x1,25-6H M8x1 25-6H
1
3160 _ j
9216 __ H\/
.89
Drawings are prepared for catalogue study.
oL .
8 0 First drawing 22.03.2018
cﬁcﬁ Issue Changes Date Drawn by Checked by Approved by
o | i | @ oo () vt (9 o QD e
o M e ORDER NO:16900482
PART NAVE A2 220/K15 Metalli Kath Koriik(Airtech)

-e- aktas




